Demsetz Excerpt:  Reading Comprehension Self-Quiz
General Introduction (p.30)
(1) Which of the statements below is inconsistent with the meaning of the following passage:

“What converts a harmful or beneficial effect into an externality is that the cost of bringing the effect to bear on the decisions of one or more of the interacting persons is too high to make it worthwhile….” (p.30).
(a) If a harmful effect results in costs that are too high, it will not be an “externality.”

(b) Unintended beneficial effects of an activity can be “externalities.”
(c) A harmful effect is likely to be an “externality” if the people burdened by the effect have great difficulty determining what activity is causing it.
(d) A harmful effect is likely to be an “externality” when it slightly harms many people.
(2) Which of the following is an example of what the author means by “internalization” of externalities?

(a) A person engaging in an activity becomes aware of negative effects caused by that activity.  
(b)  A business that produces a product purchases another business that had been benefitting by purchasing that product. 

(c)  A homeowner receives regular payments from a neighbor in return for trimming her trees to ensure that the view from the neighbor’s house is unimpaired. 

(d) To help lower overall auto insurance costs, a state passes a law requiring that people inside automobiles wear seatbelts.  

First Thesis (pp.31-32)

(3) On page 31, Demsetz postulates that “property rights develop to internalize externalities when the gains of internalization become larger than the cost of internalization.”  Which of the following does he believe to be true of the process by which this occurs?
(a) When government policy-makers try to address harmful effects, they usually describe what they are doing in precisely the terms used by Demsetz. 
(b)  When government policy-makers try to address harmful effects, there is a reasonable possibility that they won’t improve the situation. 
(c) Most attempts to internalize externalities improve economic efficiency.  

(d) Determining whether “the gains of internalization” are “larger than the cost of internalization” is a precise mathematical exercise. 
(4) On page 31, Demsetz says, “Thus a successful hunt is viewed as imposing external costs on subsequent hunters — costs that are not taken into account fully in the determination of the extent of hunting and of animal husbandry.”  Who does he believe views successful hunts this way?

(a) The successful hunters.


(b) The unsuccessful hunters.


(c) The entire Montagne tribe.


(d) None of the above. 
(5) According to Demsetz’s account of the Montagne tribe (pp.31-32), which of the following resulted from their introduction to Europeans willing to pay good prices for furs?


(a) Hunting of fur-bearing animals increased.

(b) The tribe became aware that they might rapidly use up the supply of fur-bearing animals.

(c) The tribe delineated finite hunting areas and allocated them to particular hunters.

(d) All of the above.

(6) Which of the following would Demsetz say contributed to the differences regarding private property rights between the Montagne and Native American tribes of the Southwestern plains?
(a) The first Europeans encountered by the Montagne were French; but the first Europeans on the Southwestern plains were Spanish.

(b) There were fewer animals on the arid plains than on the Labrador Peninsula.

(c) The Montagne depending more on hunting and less on agriculture that the tribes of the Southwestern Plains.

(d) Fashionable Europeans never developed an interest in products made from Southwestern bison that was nearly as strong as their desire for beaver hats. 

Second Thesis (pp.33-34)

(7) Which of the following is an example of what Demsetz calls “communal ownership.”


(a) The right to picnic or play Frisbee in Central Park in New York.

(b) A military base in Cuba.


(c) A sorority house owned by the national chapter of the sorority.


(d) A vacation house owned jointly by eleven cousins.

(8) Which of the statements below correctly explains Demsetz’s use of the words or phrases in the following passage:

“Negotiating costs will be large because it is difficult for many persons to reach a mutually satisfactory agreement, especially when each hold-out has the right to work the land as fast as he pleases.  But, even if an agreement among all can be reached, we must yet take account of the costs of policing the agreement, and these may be large, also. ...” (p.33)

(a) “It is difficult for many persons to reach a mutually satisfactory agreement” because, as the number of people involved in a negotiation rises, the number of solutions acceptable to everyone decreases and the amount of time and labor necessary to reach one of those solutions increases.  
(b) A “hold-out” is an individual whose participation is important for a negotiated agreement to be effective but has not yet been willing to join the agreement for the terms offered.  
(c) The “costs of policing the agreement” include the costs of monitoring the relevant activities to ensure that the participants are complying with the agreement and the costs of applying enforcement mechanisms to those who do not comply.

(d) All of the above. 

(9) In the second paragraph on page 34, Demsetz says that, in a private property system, “The cost of negotiating over the remaining externalities will be reduced greatly.”   Why does he believe this?
(a) Policing costs are eliminated.

(b) Private owners have better incentives to take care of their property.

(c) It is easier for outsiders with concerns about how a parcel of land is used to conduct negotiations to protect their interests.

(d) All of the above 
